

# Quote

04/25/2019

To:

Mt. Diablo Unified School District Dominic Machi 1936 Carlotta Drive Concord, CA 94519-(925)682-8000 Project:

Mt. Diablo Serendipity FOH, China, Glassware, Etc

From:

TriMark Economy Restaurant

**Fixtures** 

Allison Pannabecker 415 Richards Blvd Sacramento, CA 95811 (916)558-3032 (Contact)

113032

Pricing based on the Sourcewell Contract Number 091918-TMK. Contract began on July 1, 2018 and Expires on December 31, 2021

Item	Qty	Description	Sell	Sell Total
1	5 cs	PLATE, CHINA  TriMark Model No. 021052 Packed 1 cs  Alani Plate, 7-1/2" x 7-1/2" square, dishwasher safe, porcelain, white (24 each per case)	\$207.79	\$1,038.95
2	8 cs	PLATE, CHINA  TriMark Model No. 024522 Packed 1 cs  Alani Tempo Plate, 6-1/2" dia., round, dishwasher safe, porcelain, bright white (24 each per case)	\$59.32	\$474.56
3	5 cs	PLATE, CHINA TriMark Model No. 024592 Packed 1 cs Alani Tempo Plate, 10-5/8" dia., round, dishwasher safe, porcelain, bright white (24 each per case)	\$158.40	\$792.00
4	6 cs	CHINA BOWL  TriMark Model No. 024311 Packed 1 cs  Alani Tempo Pasta Bowl, 23 oz., 12-1/4" dia., round, dishwasher safe, porcelain, bright white (12 each per case)	\$153.24	\$919.44
5	6 cs	CHINA BOWL  TriMark Model No. 024422 Packed 1 cs  Alani Tempo Fruit Bowl, 3.50 oz., 4-7/8" dia., round, dishwasher safe, porcelain, bright white (24 each per case)	\$49.43	\$296.58

		**************************************		
Item	Qty	Description	Sell	Sell Total
6	5 cs	CHINA PLATTER	\$107.59	\$537.95
		TriMark Model No. 025251 Packed 1 cs		
		Alani Platter, 12-1/4" x 8-1/4" oval, coupe, dishwasher safe, porcelain,		
		white (12 each per case)		
7	2 cs	CHINA PLATTER	\$103.90	\$207.80
		TriMark Model No. 022471 Packed 1 cs		
-		Alani Platter, 14" x 7-3/4" rectangular, dishwasher safe, porcelain,		
		white (6 each per case)		
	3			
8	2 cs	CHINA BOWL	\$123.58	\$247.16
		TriMark Model No. 024562 Packed 1 cs		
		Alani Tempo Rim Soup Plate, 10-1/2 oz., 9" dia., round, dishwasher		
		safe, porcelain, bright white (24 each per case)		
9	5 cs	SOUP CUP / MUG, CHINA	\$74.40	\$372.00
		TriMark Model No. 024542 Packed 1 cs		
		Alani Tempo Soup Cup, 9 oz., 4-1/2" x 2", round, dishwasher safe,		
line.		porcelain, bright white (24 each per case)		
10	5 cs	CHINA SAUCER	\$49.20	\$246.00
		TriMark Model No. 024552 Packed 1 cs		
		Alani Tempo Saucer, 6-1/2" dia., round for Soup Cup, dishwasher safe,		
		porcelain, bright white (24 each per case)		
11	2 cs	CHINA CUP	\$59.40	\$118.80
		TriMark Model No. 024003 Packed 1 cs		
		Alani Tempo Tea Cup, 5.50 oz., 3-1/8" x 2-1/4", stackable, dishwasher		
	50	safe, porcelain, bright white (24 each per case)		
12	2 cs	CHINA SAUCER	\$39.60	\$79.20
		TriMark Model No. 024013 Packed 1 cs		
A		Alani Tempo Saucer, 5-7/8" dia., round, for Tea Cup, dishwasher safe,		
		porcelain, bright white (24 each per case)		
0.58			. 100 00 00	
13	5 cs	MUG	\$64.20	\$321.00

Item	Qty	Description	Sell	Sell Total
	9	TriMark Model No. 024472 Packed 1 cs Alani Tempo Mug, 12 oz., 3-3/8" x 4", dishwasher safe, porcelain, bright white (24 each per case)		
14	1 cs	CHINA CUP	\$56.40	\$56.40
	30	TriMark Model No. 024572 Packed 1 cs Alani Tempo Espresso Cup, 3.50 oz., 2-3/4" x 2-1/8", stackable, dishwasher safe, porcelain, bright white (24 each per case)		
15	1 cs	CHINA SAUCER	\$37.80	\$37.80
		TriMark Model No. 024582 Packed 1 cs Alani Tempo Saucer, 4-7/8" dia., round, for Espresso Cup, dishwasher safe, porcelain, bright white (24 each per case)		
16	1 cs	CHINA CUP	\$60.94	\$60.94
		TriMark Model No. 010052 Packed 1 cs Alani Latte Cup, 17 oz., 4-1/2" dia. x 3"H, dishwasher safe, porcelain, white (24 each per case)		
17	3 cs	CHINA CREAMER / PITCHER	\$92.56	\$277.68
	30	TriMark Model No. 070891 Packed 1 cs Alani Creamer, 10 oz., with handle, dishwasher safe, porcelain, white (12 each per case)		
18	6 cs	SUGAR PACKET HOLDER / CADDY	\$26.54	\$159.24
-		TriMark Model No. 070026 Packed 1 cs Alani Sugar Packet Holder, 3-1/4" x 3-1/4" x 2-1/4", dishwasher safe, porcelain, white (6 each per case)		
19	12 ea	•	\$35.18	\$422.16
		TriMark Model No. 922346 Arcata Teapot, 17 oz., 3" x 3-3/4", 18/8 stainless steel, mirror finish		
20	12 ea	MINIATURE COOKWARE / SERVEWARE	\$24.70	\$296.40

Item	Qty	Description	Sell	Sell Total
		TriMark Model No. 081820 Arcata Mini Casserole Dish, 14.25 oz., 3-1/2" x 4-3/4" x 2-1/4"H, 6-1/4" with handles, oval, with lid, cast iron, blue		
21	12 ea	MINIATURE COOKWARE / SERVEWARE TriMark Model No. 080820	\$24.55	\$294.60
4		Arcata Mini Casserole Dish, 14.25 oz., 3-1/2" x 4-3/4" x 2-1/4"H, 6-1/4" with handles, oval, with lid, cast iron, red		
22	11 cs	DINNER KNIFE	\$17.17	\$188.87
		TriMark Model No. 031711 Packed 1 cs Venu Montello Dinner Knife, 9-3/8", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)		
23	12 cs	FORK, DINNER	\$13.08	\$156.96
20	12 00	TriMark Model No. 031721 Packed 1 cs	ψ13.00	Ψ130.30
- June		Venu Montello Dinner Fork, 8-1/8", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)		
24	3 cs	SOUP / BOUILLON SPOON	\$13.26	\$39.78
		TriMark Model No. 031731 Packed 1 cs		•
		Venu Montello Oval Bowl Soup Spoon, 7-7/8", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)		
25	10 cs	FORK, SALAD	\$10.41	\$104.10
		TriMark Model No. 031741 Packed 1 cs	Ψ20.12	<b>\$20 1120</b>
		Venu Montello Salad Fork, 7", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)		
26	10 cs	COFFEE / TEASPOON	\$11.00	\$110.00
		TriMark Model No. 031751 Packed 1 cs Venu Montello Teaspoon, 6-7/8", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)	, =====	*******
		,,		
27	10 cs	SOUP / BOUILLON SPOON	\$16.18	\$161.80

		Triviare Economy Restaurant Tixtures		04/23/201
Item	Qty	Description	Sell	Sell Total
		TriMark Model No. 032071 Packed 1 cs Venu Montello Bouillon Spoon, 7-1/8", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)		
28	5 cs	ICED TEA SPOON  TriMark Model No. 032081 Packed 1 cs  Venu Montello Iced Tea Spoon, 7-1/2", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)	\$11.57	\$57.85
29	2 cs	DEMITASSE SPOON  TriMark Model No. 032091 Packed 1 cs  Venu Montello Demitasse Spoon, 4-1/2", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)	\$8.06	\$16.12
30	2 cs	FORK, COCKTAIL OYSTER  TriMark Model No. 032331 Packed 1 cs  Venu Montello Cocktail Fork, 5-3/4", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)	\$10.05	\$20.10
31	12 cs	BUTTER KNIFE / SPREADER  TriMark Model No. 032341 Packed 1 cs  Venu Montello Butter Knife, 7-1/8", textured vertical panel, dishwasher safe, 18/0 stainless steel (12 each per case)	\$16.30	\$195.60
32	4 cs	STEAK KNIFE TriMark Model No. 034191 Packed 1 cs Venu Steak Knife, 9-3/8", stainless steel blade, ABS handle, black (12 each per case)	\$76.24	\$304.96
33	8 cs	TUMBLER  TriMark Model No. 924938 Packed 1 cs Alani Essex Beverage, 14 oz., 3-1/4" dia. x 6-5/8"H, dishwasher safe, rim tempered, glass (12 each per case)	\$23.80	\$190.40
34	8 cs	TUMBLER	\$84.00	\$672.00

Item	Qty	Description	Sell	Sell Total
		TriMark Model No. 019106 Packed 1 cs Crystalex Bolero Iced Beverage, 13.50 oz., 3-1/8" dia. x 6-7/8"H, thermal shock, dishwashing, impact and alkali resistant, crystal glass (24 each per case)		
35 Xe d	40 ea	FRENCH FRY BAG / CUP  American Metalcraft Model No. FFC337  French Fry Cup, 14 oz., 3-3/8" dia. x 3-3/8"H, stainless steel, satin finish	\$3.60	\$144.00
36	3 ea	CHAFER PAN TriMark Model No. 922402 Arcata Food Pan, 15"L x 4-1/4"H, for 8 qt. round chafer, stainless steel	\$63.13	\$189.39
37	3 ea	BEVERAGE DISPENSER, NON-INSULATED  TriMark Model No. 085250  Arcata Beverage Dispenser, 3 gal, 11" x 12" x 22", infuser included, plastic container, polished stainless steel base	\$97.00	\$291.00
38	9 ea	SERVING TONGS TriMark Model No. 922575 Arcata Sabel Serving Tong, 12", dishwasher safe, 18/8 stainless steel	\$8.30	\$74.70
39	12 ea	SOLID SERVING SPOON TriMark Model No. 070661 Arcata Sabel Serving Spoon, 13-3/4", solid, 18/8 stainless steel	\$14.30	\$171.60
40	6 ea	SLOTTED SERVING SPOON TriMark Model No. 070671 Arcata Sabel Serving Spoon, 13-1/2", slotted, 18/8 stainless steel	\$14.30	\$85.80
41	6 ea	SOLID TURNER	\$14.73	\$88.38

Item	Qty	Description	Sell	Sell Total
		TriMark Model No. 070791 Arcata Sabel Turner, 13-5/8", solid, 18/8 stainless steel		
42	2 cs	RAMEKIN / SAUCE CUP, METAL  TriMark Model No. 859185 Packed 1 cs  Culinary Essentials Sauce Cup, 2-1/2 oz., round, 14/1 stainless steel (12 each per case)	\$2.04	\$4.08
43	2 cs	RAMEKIN / SAUCE CUP, METAL  TriMark Model No. 859184 Packed 1 cs  Culinary Essentials Sauce Cup, 1-1/2 oz., round, 14/1 stainless steel (12 each per case)	\$1.68	\$3.36
44	2 cs	GLASS PITCHER  TriMark Model No. 922600 Packed 1 cs  Arcata Pitcher, 1 liter, 5-1/2"dia. x 8-1/8"H, glass (6 each per case)	\$33.45	\$66.90
45	6 ea	CHAFING DISH  Trimark Model No. 075571  Dripless Chafer, full size, 9-3/4 quart, 27-1/2" x 18-1/2" x 17-1/8", roll-top with smooth action dome cover stops in any position, dripless water capability, 18/8 stainless steel mirror polished finish, brass plated handles, all welded construction, includes: food pan, water pan & fuel holders	\$580.82	\$3,484.92
46	3 ea		\$456.02	\$1,368.06
47	3 ea	CHAFER PAN  TriMark Model No. 922402  Arcata Food Pan, 15"L x 4-1/4"H, for 8 qt. round chafer, stainless steel	\$63.13	\$189.39
48   X	6 ea	SLOTTED TURNER	\$14.73	\$88.38

Item Qty Description Sell Sell Total

TriMark Model No. 070921

Arcata Sabel Turner, 14-1/8", slotted, 18/8 stainless steel



50 6 ea CART, DINING ROOM SERVICE / DISPLAY

\$765.00

\$4,590.00



Lakeside Manufacturing Model No. 36204 Service Cart, oval, 16"D x 39"W x 35"H, (3) open shelves, handle hole cutouts on top, high impact edge molding, 1-1/2" steel tube legs, 4" swivel casters, Made in USA

6 ea Group 1 laminate finish: Black

6 ea Legs to be specified

ine 49 DELIVERY

Delivery Included

Merchandise \$20,315.16 Tax 8.75% \$1,777.58 Total \$22,092.74

Prices Good Until: 05/24/2019

## **Return Policy:**

- Unused stock merchandise in original condition/packaging, with all parts and accessories may be returned within 30 days of invoice. (Subject to written approval of TriMark Economy) **Special Order Returns Policy:**
- Special Order returns are subject to manufacture restock fee's and return freight charges. (List of return restrictions below) (Sales, Warehouse or Factory errors may exempt customer from return restrictions.)
- Returns must be approved by department managers.
- \*\* Must abide by stock return policy \*\*
- All items will be inspected for damage and usage prior to issuance of a credit/refund.
- Customers are responsible for return freight on all call tag returns. (Sales, Warehouse or Factory errors may exempt customer from policy)

#### Final Sale & Nonreturnable merchandise:

- Consignment, demo, sale (One-time low price), closeout, or used Items
- Custom or logo'd items
- Consumable, perishable and disposable items
- Liquid items: cleaning product, detergents, flammable liquids, aerosol cans
- Furniture

#### Refunds:

- All cash account refunds will be made on purchasing credit card or by check request.
- All net account refunds will be made in exchange for account credit.

### Damaged, Shortage and Defective:

- All Damages and shortages must be noted on Trimark Economy packing slips at the time of delivery.
- Defective units must be reported to TriMark Economy within 48 hours of delivery. Reports exceeding 48 hour window are subject to above return policy and factory warranty period.
- Note: Customer assumes responsibility for all product on signed carrier receipts. Damages, Shortages and Defective units must be noted at the time of delivery or refused and sent back to sender.

#### **TriMark Economy Restaurant Fixtures**



Delivery services not pre-identified will not be performed by delivery team:

Services requested at time of delivery, if time permitting and possible for delivery team to perform (without impacting the delivery schedule), may be charged at a rate of 3 times the original fees.

Customer delivery refusal will be subject to the customer returns processing fee.

Upon arrival, if delivery team cannot locate delivery point of contact, the delivery team will wait 15 minutes. If delivery point of contact is not present within 15 minutes, and delivery team departs without item(s) dropped-off, the customer will be charged a \$50 missed delivery fee.